50, will be treated as malpractice.

aining blank pages.
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Any revealing of identification, appeal to evaluator and /or equations written ¢

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the rem
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Max. Marks: 80

J\( ALORE ‘/‘4 ;
e Answer any FIVE full questlons, choosing ONE full questwn [from each module.

' Module-1 .
1 Analyze the continuous beam shown in Fig.Q.1 by slope- deflection method and draw BMD.
_ (16 Marks)
OkN kN
: 20 \(,NI“') ® o 15VJO
%W 2m VL \l"z“’ ﬂm@
‘A & @ # O
b g 4m — bro —F—— 4 —F
Fig.Q.1
OR
2 Analyze the rigid frame shown in Fig.Q.2 by slope deﬂec‘uon method" and draw BMD.
(16 Marks)
__~10EN|W
.Fig’1Q.2
' Module 2
3 Analyze and draw BMD for the continuous beam shown in Fig.Q.3 by moment distribution
method if support ‘B’ smks by 30mm and support ‘C’ sinks by 20mm.
Take EI = 24,000 kNm?. (16 Marks)
: SO0kN
‘20|L'°"‘° (_/zoluolro
A(‘Y%’TY)’Y\B 2m € e

i Pad
¥

5
50 —p— 4o —+
Fig.Q.3
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OR
Analyze the rigid frame shown in Fig.Q.4 by moment distribution method and draw BMD.
s (16 Marks)
100N g : c
‘ e it
-
4o o
A
Fig.Q.4
Module-3 -
Analyze and draw BMD for the continuous beam. shown in Flg Q 5 by Kani’s method, if
support ‘B’ sinks by 10mm and E =2 x 10° N/mm?, 1= 12 x 10* m*, (16 Marks)
50N

: ,.  gokNlm - XL_.M . QOWOJWI!)
A ) S

P

- bro ——4 5 ——f— b —F
Fig.Q.5
OR |
Analyze the rigid frame shown in Fig.Q.6 by Kani’s method and draw BMD (16 Marks)
’ Q_OILN e
| @f)

' '“;‘Fm 10m

D CMRIT LIBRARY

&t BANGALORE - 560 037
Fig.Q.6
) ; Module-4
Analyze the contmuous beam shown in Fig.Q.7 by matrix flexibility method using system
approach and draw BMD. Take moments as redundants. (16 Marks)

.‘;/&m’”? B \L 3m %r_

Fig.Q.7

20f3
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OR £
Analyze the pin-jointed truss shown in Fig.Q.8 by matrix flexibility method of system
approach and determine forces in all the members, Take force in member ‘OA’ as
redundant. ' (9,9 (16 Marks)

e ———

Fig.Q.8
Analyze the rigid frame shown in Fig.Q.9 by matrix stiffness method and draw BMD.
4 H (16 Marks)
' 20k
(2r)
o Y O 9 - aiy
| %777 alT "{,QE;E"EIQ*:-B?) £
i % = '.:.;mw r\i&!lbﬁilﬂﬂfﬁw“
\ BAN
Fig.Q.9
OR

Analyze the pinjointed frame shown in Fig.Q.10 by matrix stiffness method and find forces
in all the members. The numbets in parentheses are the C/S areas of members in sqmm.

(Take E = constant). (16 Marks)
' 50N
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